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50,0002 *20H*2.5 250
02 S3=gHl 840 840 0
OAEEHIS X 840
Oas & A FSFI| =2l
200,000 *3CH*12] 600
OSZ2ZMEANE NCHBE 20 &
2| Stes= 20,000& ~12& 240
301 EtE N = 14,919 20,577 A\b5,658
0 MSRREENS 14,919 20,577 Ab,658
OSBHA AERRE 24 14,919
Oo=ss(¢d) 1,000,000 x1H 128 12,000
oS4l 7,0003 22 x1E+12E 1,848
OusHl 2,800 x22x 1 x 12 740
Oul=H| 330,720 %1 331
EATOIERNIDIIY It QIMEIE XI= 68,000 26,000 42,000
Il 34,000
Al 34,000
301 22N = 68,000 26,000 42,000
7l 34,000
Al 34,000
14 JIEt2d= 68,000 26,000 42,000
OBAHQIEN It AHEIE X5
68,000,000& 1= 68,000
Jl 34,000
Al 34,000
MR E AIEE 280t~ MEHALE 17,400 17,400 0
= 8,700
Al 4,350
- 4,350
201 Let=23 | 6,900 6,900 0
= 3,450
Al 1,725
T 1,725
01 At2tltl 6,900 6,900 0
OMEA dE 2SS S2E3 78 6,900
O82ES 1,380,000 55 6,900
= 3,450
Al 1,725
T 1,725
301 EtE N = 10,500 10,500 0
= 5,250
Al 2,625
T 2,625
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M OlEEH (f)|8 XA
Rl HIIEAS S HEEZE W (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 dALEEIXIZE S 10,500 10,500 0
o2&t~ At - HEE 23H| 24
15,0002 350 All CH*23 10,500
= 5,250
Al 2,625
- 2,625
AHUBHAN SHAIA 80,000 52,000 28,000
Jl 72,000
Al 4,000
- 4,000
301 EtEE S 80,000 52,000 28,000
Il 72,000
Al 4,000
- 4,000
14 JIEt2 8= 80,000 52,000 28,000
OAHIIH X+ XI& 80,000,000& *1 80,000
7l 72,000
Al 4,000
- 4,000
=cll0lE MelX# 49,640 27,3% 22,244
= 24,820
Al 12,410
- 12,410
402 2I2F X201 & 49,640 27,3% 22,244
[ 24,820
Al 12,410
- 12,410
03 2IZ+RAETAIZ I 49,640 27,3% 22,244
O=cl0IE HMel & XISHE N
49,640,000& 1 49,640
[ 24,820
Al 12,410
- 12,410
MN=sA22e 25AKE 118,000 270,000 /152,000
= 70,800
Al 47,200
402 2I2F X201 & 118,000 270,000 /152,000
= 70,800
Al 47,200
02 QI TH2AILEE (01X THE) 118,000 270,000 A152,000
OUIZIA=AIHE £ 118,000
OJEE MN=A 22 E2AY 118,000
ksl 100,0002 *1,000CH 100,000
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2A:

Mm: ot R R
ctel: =00l #ofote &EdE (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=y 2,530 *30021 %22 1,518
OISO UESHAE Y X442
(22,0002 %123 )+(50& *4,00024) 464
OstZMERYs e ASItE HF =
=3 4,00024 1002 400
303 Za= 1,000 1,000
01 Za= 1,000 1,000
OBBNLLYD JHE MY B U 4l
ez 2y 100,000,000 *5/100%20% 1,000
OFSS ULioHH 3,750 3,000 750
201 er23| 2,750 2,000 750
01 AtR2t2|HI 2,250 1,500 750
OSHOIMSS Tah oY 1,350
OOtMA YT ZHE KX 22 100
mslg ol 50,0002 0% 100
OB ¥ oY TE Aot
50,0002 x100H*2.5 1,250
OFolOtEsS= &Kl - A 900
OEIXl - 2 &= 30,0002 x20H 600
OEX - M 23 300
Y= S 300,000 *14] 300
02 S3=gHl 500 500 0
Ol JISEEH 285 K&
250,000 2 500
301 22N = 1,000 1,000
14 JIEt2 8= 1,000 1,000
OO X P HI(22]) 2& TlH2 4
1,000,000& 1= 1,000
HH2LZH(SMEZ D) 8,626,820 8,702,615 ANT5,79%5
el 2E| 8,539,460 8,615,555 AT76,095
el 8,539,460 8,615,555 AT76,095
101 ©1AH| 7,723,822 7,802,757 A\T78,935
01 2= 138,478 136,685 1,793
OAlIZRAZ 25 138,478
O6= 12,3213 x3BAI 26+ 123 31,049
o2 (83 =)
12,3212 +57 A 218+ 128 8,428
ora 11, 1302 +30A| 2H+8H* 123 37,397
O = 9,992 +35A 2Hx 118« 123 46,164
Q92 (XI1&82)
9, 1602 +57 A2+ 18123 6,266
O%= 9, 1602 x35AI2Hx 18123 3,848
OXIH&HI 133, 148,000 4% 5,326
02 JIEtA == 31,383 0 31,383
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SN =MEAD
HH: HES A (SMEA )
el i Eg| (St &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OAIZHIE DI (0HS) 31,383
OH3SH 21,525,0003 1 x14 21,525
OAIZtRI RS
9, 1603 x35AI 2t 1+ 123 3,848
OJtEE 120,000& x1H 122 1,440
OZHSAH| 140,000 x 1 * 122 1,680
Ot 4|
1,793, 7502 *84%+80%+1/30%1/7x 100 Al 2+ 618
OAIRHE Rl % g
1,793, 7502 x84%+40/35+5%+ 122 1,034
OX<IH&HI 21,525,000 *4% 861
onsE=ss 21,525,000 *1.75% 377
03 BRA(RIAH) 222 7,553,961 7,666,072 A112,111
OstEERA 22Y 7,469,658
OJ12=(10E8)
2,494,960« 117 * 122 3,502,924
Oaoia(1083) 1,734,208
|2 2,694,960 117 x200% 630,621
-d2eE 2,694,960 *117Z*100% 315,311
HEetas] 2,694,960 1172 *250% 788,276
OX<IH&HI 7,002,360, 5343 *4% 280,095
(OFSREES] 435,000
SExgfsEg 100,000& *117F 122 140,400
A=Y 100,000 *117H* 122 140,400
- H2E R3S
50,0003 *117F 128 70,200
g 84,000
- X 40,0002 «110E* 122 52,800
S 20,0003 *130H 122 31,200
O=cl=4] 318,373
SRS 2,694,960 * 117 %120% 378,373
OgE=g(1088) 779,058
A ] 224,450 < 117F 15 393,910
SPNE = Ry 149,630 *117H »22 385,148
Od32A &H
120,000,000 & *x3H 360,000
odsFH =)
5,000&*117E 122 7,020
o=dEsRA FoIHLEE=
120,000& 60 «12] 7,200
oFSEA gl
100,000& 117 *14 11,700
OESFH 41t A=
2,494, 9602« 117& »20% 58,383
202 04l 300 300
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SN =MEAD
HH: HES A (SMEA )
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 300 300 0
OBESFA £ 300,000 1 300
204 AR A 1,628 1,628
02 M2l 1,628 1,628
OS2 XY (AIZHIH M IIMIOHS)
165,000& *35/40% 12 1,628
WM HsEE=S 813,710 812,498 1,212
M SRA(RIAHL) 22N EESRE=s S 813,710 197,505 616,205
OLNESEZE MNEXN BES 125,874
Oagsn 7,192,756,8393 +0. 9% 64,735
OLNSHEAE 7,192,756,839&0.85% 61,139
OLEMHEEEE AIENL FES
7,192,756,839& * 1% 71,928
O=0t= & SHAU=H ASA FE= 333,675
Oo=gg=s 7,192,756,839& *4. 5% 323,675
O34 & ZH| 10,000,000 * 1= 10,000
OALEEE AL 22
7,192,756, 8393 %3.495% 251,387
OIIRLES ALZLN RE=
251,386,852 %12.27% 30,846
=3l 87,360 87,060 300
Jl=23H] 87,360 87,060 300
201 Let=23 | 19,920 19,620 300
01 At2teltl 19,920 19,620 300
Odgt+==H| 8,400
ORANEg=+3HI
25,0002 x25H*122+0.8 6,000
OEU 7 (TR, SADI, ZAESII)
240,000 * 107K 2,400
(CF=E 11,520
OSZ234All 8,000 24 H+541x 122 11,520
202 04| 62,640 62,640
01 =LHOHI 62,640 62,640
OJ|=dRFA0H|
180,000 x20E « 12& 62,640
203 HR=H] 4,800 4,800
M EAEgER=A 4,800 4,800
ORMEZIYER=2a] 400,000& 122 4,800




